
Below are some of the reasons Jesus is the only One who could save all of humanity from sin.  
Write the number of each statement in the correct circle to sort them by the two natures of Jesus: 
fully God and fully man.

1. The first sin was caused by a human, so a human needed to fix it.

2. The Savior needed to be like humans in all ways but sin.

3. God created us for communion, so the Savior He sent was His Son.

4. God is infinite, so the Savior’s sacrifice needed to be infinite.

5. The Savior needed to become human like us to save humans from sin. 
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